StanleyBlack&Decker

SERRA TICO TICO 550W 220 V CACAO PENDUL

Posicao Peca Referéncia Qtde Garantia da peca / Meses
1 90610727 | CONJ.EMPUNHADURA 1 12
2 90510498 | MANCAL 1 12
4 90553239 | ESPACADOR 1 12
5 90525759 | CONTRAPESO 1 12
6 90517281 PINO 4 12
7 90526099 | ENGRENAGEM 1 12
8 582717-00 | ARRUELA 1 12
9 90510502 ANEL DE RETENCAO 1 12
10 823954 ARRUELA DW300 1 12
11 795688-00 | BUCHA 1 12
13 90514115 BARRA DE ACIONAMENTO 1 12
14 582720-00 | MOLA DW300 1 12
15 582719-00 | MANCAL INFERIOR DW300 1 12
16 795645 SUPORTE DO MANCALINFERIOR DW300 1 12
17 582949-00 | FELTRO 1 12
18 582948-00 | SUPORTE DO FELTRO DW300 1 12
19 583173-00 | PARAFUSO M3X8 DW300 1 12
20 582593-00 | CONJ. FIXADOR DA LAMINA 1 12
20 329301-00 | PRESILHA DO CABO ELETR.DW300 1 12
21 90603224-03 | INTERRUPTOR 1 12
22 330019-01 | PARAFUSO M3.5x9.5 T15 2 12
23 90610770 | CONJ.ROTOR/ROLAMENTO220V 1 12
24 90634680 | CABO ELETRICO 1 12
23 148481-00 | BUCHA DO CABO ELETRICO 1 12
27 90549938 | CON]J. CARVAO E PORTACARVAO 220V 1 12
28 90610771 CON]J. ESTATOR 220V 1 12
29 90607211 CON]J. SUPORTE EBUCHAGUIA 1 12
30 90542862 PINO DW300 1 12
31 90605828 SUPORTE DA LAMINA 1 12
32 90512885 SUP. FIXACAO DA SAPATA 1 12
33 90603421 | BASE 1 12
34 90512886 | PLACA DE FIXACAO 1 12
35 90519315 | PARAFUSO 2 12
37 330019-03 | PARAFUSO M3.63 X 16MMT15 ACO 9 12
38 330019-59 | PARAFUSO M3.63 X 35MMT15 ACO 2 12
39 90610703 | ALAVANCA 1 12
40 90544008 | ANEL TRAVA DW300 1 12
46 90630853 ETIQ. ESPECIF. KS701-B2 TIPO1 1 12




